Geometry CC Name: LE\'
Unit 1 Part 3 Test Review Date: Period:

Find each measure:

17 PR 2. IM 3. AC
5 +=92-5

PQ=4.2+Y4.8 |Im =s@] 21 = 32

4. Write an equation in point-slope form, y —y, =m (X - X1) , for the perpendicular bisector of the

segment with endpoints M(-1, -3) and N(7, 1). —— Slope-M\N = 1 =(-3) .. ..‘i
Fal—ty B
midpoint t—_.‘;} ,':"_;:'.__‘_} perpendiculor

S\ope=-2
M‘\ &PO‘\A“— (3' = |\

K g 4 ~ED="2(x =3)

5. PX, PY, and PZ are the perpendicular bisectors of ARST. Find PS and XT. k—%\%"“ \=-2 LX - 3) _

£y +32 +50 =180

2473 =99 — LHT L =%
Z

=|49°
7. Find the circumcenter of ATVO with vertices T(9, 0), V(0, -4), and O(0, 0). .
‘/ , 1 ] 5 7 579 10
Lonevre L["“ M ——-Z} :
Fn—(Pu-r\c\.'\ cal\avw J ) ‘ 5=—7_
4
bisectors meat. 3 / f
oA
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8.In ADEF, BD =87, and WE = 38. Find BW, CW, and CE.

Bus=5BD  WE=3CE 4 soy3cE
B.L_D::__é. L%q,\ 3% =_32;. cE Ci='I3 Lc.;-.:;.v gt
Buo=29) |BF=cE [c==19

9. Find 2V, PM, and m£RZV in AJMP.

=2V =L )W —
o Pln=2Z% AW \nk. LS
=5 (307 ‘Pv\/\—:’LLSBW 20N = 3.
ZV=ys | Pra = low |

=1 a2
5 At
.:%% {3{\: - 5(\_%.«
11. A pantograph is used to copy drawings. Its legs form a parallelogram. In ZJKLM, LM =17 cm, KN = 13.5 cm,
and m£ZKJM =102°. Find each measure:
a) KM=13.9+\3.8 = 2R cen
b) Kl = Frenn
c) MN=13.%cm
d mAKL= 10— 0L =%
e) mZIML = °
f) mzKLM =102°
12. WXYZ is a parallelogram. Find each measure:
a) WX =(3)-3F =1\
b) YZ =wox =1\\
2 =Hb —
3=b
LX 4+ La =180 Qo= 192
Se= 39+ 3a+ 2+ =180 a=124

o —12 =120
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13. The flag of Jamaica is a rectangle with stripes along the diagonals. In rectangle QRST, QS = 80.5, and RS = 36.
Find each length.

[e3)

) SP =®0.5<+2 = H0.25
) QT — ;5&,:;

c) R=SP=20.%

) TP=4Hop .26

()

(o8

GHIK is a rhombus. Find each measure:

14 H =0s) -3 = 3“3 + 9
1S = 1s

Ry=2g

15. mZHJG and m£GHJ if m£JLH=(4b—6)° and m£JKH = (2b +11)°

%

L’\\a»(o ="
L\\a =
Y b =24
“HI6+59 490 =120
—Lri-Lly LYW =y
LW =259

P S







